Given the equation y" -y’ — 6y = 8cos2x +6e*, find the general solution. [104 EFR} K EE T 2]

[V EOTIEAN - A -6=0= A +2)(A-3)=0=A=-2,3
yh=Cie 2+ Coe*
Let Yp=(Acos2x + Bsin2x) + Ce™ = yp’ = —2Asin2x + 2Bcos2x +4Ce*
Yo" =—4Acos2X — 4Bsin2x + 16Ce*

RAE
(=4Acos2X — 4Bsin2x + 16Ce*) — (—2Asin2X + 2Bcos2X + 4Ce™) — 6(Acos2x + Bsin2x + Ce*) =
8cos2x + 6
(=10A—2B)cos2x + (2A — 10B)sin2x + 6Ce*™ = 8cos2x + 6™

-10A-2B =8 . 5

2A-10B=0 = A:——O, B=——,C=1

13 13
6C =6

y=Y,+Y, =Ce +C,e” —%COSZX—%Sin 2x +e¥



